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MACRO ECONOMICS
Paper-BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory,
each part carrying 4 marks. Attempt four more questions
from the remaining eight questions carrying 15 marks
each.
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1. Compulsory Question ( IfTaTd-ug)
Answer the following short answer type questions. Each
question should note exceed one page :
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(a) Distinguish between micro economics and macro

economics. 4)

=Afte redeTed $iR wafie sreferes & e o= it
(b) Two sector model of an economy with financial system.
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(c) Technical attribute of propensity to consume. 4
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(d) Determinate of Induced Investment. @)
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(e) Various phases of Business cycles.
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2. Discuss the importance and limitation of macro economics.
(8+7=15)
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3.  What are the difficulties faced in the measurement of
National Income. Also discuss the precautions while
extimating National Income by Income Method.  (8+7=15)
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4. Define Investment. Discuss the factor which govern the
inducement to invest in a capitalist economy. (12+3=15)
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S. Explain Keynes' Psychological Law of Consumption.
What are its implications? (10+5=15)
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6. Discuss the concept of multiplier. Explain its working.
(5+10=15)
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7. Explain Keynesian theory of Income, Output and
employment. (15)
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8. Discuss the causes and effects of inflation. (7+8=15)
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9. Explain Hick's theory of business cycle. (15)
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